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136 1 1 K# #£X 147GTA 1ZW41476TA A% 1'55.746  115.173 3/ 4
2 69 1 2 BEH I 156GTA CLR156GTA 1'55.863  115.057 5/ 8 0.117
3 10 A 1 mf A= 147GTA/3. 2 147GTAS 1'56.978  113.960 7/ 8 1.232
4 70 A 2 WFH B# 147GTA/3. 2 147GTAR 1'57.549  113.406 3/ 6 1.803
5 29 1 3 QMEE s 147GTA CLRaWH-47GTA 1'57.714  113.247 8/ 9 1.968
6 206 2 1 IHE A Renaulth-7¥7  Clio RS 1'58.437  112.556 4/ 5 2. 691
7 202 4 1 BEL #2Z BMW 318is £5F Cjijit&318is 1'59.386  111.661 6/ 9 3.640
8 33 7 1 WA BA ABARTH 500 ABARTH500 1'59.387  111.660 6/ 7 3. 641
9 4 A 3 WF ¥ 156GTA/3. 2 #4525 2'00.189  110.915 6/ 8 4.443
10 207 4 2 B4 =B Renaultth -3 A -3RS/NLEBIE 2'00.697  110.448 3/ 6 4.951
1M1 199 7 2 ®E %X ABARTH PUNTO  [E- I+ PUNTO Evo 2°00.795 110.359 5/ 8 5.049
12 3 3 1 # KT 156/2.0 K-ENG #1567 i~ 2'01.238  109.956 4/ 9 5.492
13 66 5 1 W& RBIE 147TS-sele 7HI7147TSk) 2'01.871  109.385 4/ 6 6.125
14 65 7 3 INE HE ABARTH 595 TN WF595 HzTNE 2°02.114  109.167 6/ 9 6.368
15 210 2 2 FHX E Renaulth-7¥7  TLIF RS 2'03.866  107.623 2/ 5 8.120
16 62 6 1 4<m@E A 147TS-sele NAUTO147 DHANAZi 2'03.868  107.621 6/ 9 8.122
17 14 A 4 JIlig =B 147GTA/3. 2 147GTAZ 2°04.181  107.350 7/ 8 8.435
18 50 6 2 @A #HT 14778/2.0 K-ENG# 14777 2 2'04.583  107.003 8/ 9 8.837
19 7 7 4 FUE IEER ABARTH PUNTO 7" UhEn" 77 2'04.585  107.002 3/ 9 8.839
20 8 9 1 TEHE B 159JTS-sele  K-ENG# 159 2'04.668  106.930 4/ 8 8.922
21 106 A 5 B #H— 147TS-sele LIRSS 2'07.988  104.157 5/ 8 12. 242
22 91 5 2 EBEFH #EA 155TS16V F#mAEmichi-michi 2'08.985  103.352 3/ 3 13.239
22 60 5 3 = KA 14778/2.0 14778 2°09.636  102.833 7/ 8 13.890
24 213 8 1 =K =g FIAT 7°vb SA 7" Vb BasisR 2'10.626  102.053 5/ 8 14. 880

208 4 B =B Peugeot 306 S16 B-SALELS HEET
63 7 hiE BE ABARTH 500 TNI500 < EHE HEET

7 5 AKES : 1=AR150-1, 2=S5200, 3=AR150-3. 4=R300. 5=AR150-4, 6=AR150-6, 7=AR150-8. 8=R200, 9=AR150-9. A=AR120



